A0 55y s ® K 15
HEBT R4 Rl B EE
S (TR wass @M m oW g [P ACEERTEECEA RS
% e & & «g 7 #
| FERT N — | B — - - - - —
A £ — | BRER | IhMY HYE LR LY - -
FRIERT E=ei — | BEMR | Pb¥Y bovE bhiH LY - -
HA ESEI 40 | L1|f 21 29% 9.8 9.8 | —
_EECLAS 0> itk 40 | L1(P 12 17 5.5 5.8~ —
EioT geei — | B - - — — - —
B Fi R XA Moo 11 | | | —
ERRLISh O KR
1 42/ I8 e T i I I I R
2 [EE2 454 BEBRV 40 | L1|4 28 37 - - | -
3 hRELSt o 40 | LipE o o 0 - A -
M= B — | B o T e e e
BH £t — | B | PR bEMH MY bW | —
A H AT Bt — | B - - - -
BHREIE T £t — | B# o e A A I
HHENE T £ — | B o e A A I
AR [iiRcx a4 — | BEAR | SbME kMR Lk bk - —
AT LR K - - u - - - =
it Bt — | B -1 - - - - -
® itk Rk — | BE#E | Pb¥E bbHE v bR - -
AT L AR Rk - - ou - - - -
W FAE T gt — | B o e A A I I
o] b gk — | BBAR | bk Hh¥E vE bvE - -
AT (LA Xk 50 | L1 13 2sfE 13EE 13 | —
FRATHE P X I —fp 88t 12l | | | —
BRI 0> KR
1 BeBERngRIAE ARG 40 L2 37 429 14 14 - -
2 kRS OBRER 40 | L2 egff 35 ufF 11 | —




ST 545 i = X 25
X ATE 4 - Fndk il FigtLBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
W FAHTE 3 BRSO 40% 1.2%43 1243 z{i@; 3.@#@ 35 i
B ET £ — | BEAR — - - — — —
/NEE Exs — | BEAR | PbME bW kv kW | —
—&T Ezsin - | B& o T e e e
i B g — | B = s s e
HF LIk — | WEgR | k¥ bkvE phdE phre - -
AT LA DI
1 RaERW 40 | L2 14 2270 100 100 —| —
2 LR oM 40 | L1|4 7.3 15% 6.9 6.9  —|  —
0 e A% — | BRAR | PMY bk¥E bWy e | —
TR AR X g
1 EAMER —|i 8. 2 13 — — — —
2 EBREEAORIR
(1 FEH 40 | LoO|F 25 39 19 12—  —
(2)  EFRCLASOHIR
A CEFHIL D AR O i 40 | Lo|f 10F 21F 5.8 58 | —
v BEFELASR O Mk 40 | L1|% 104 17F@ 2.9 2.9 — -
S®@1~5TH Eee:r — | BeHR| bW KW - - - -
=1 b P — | Bl | LbMH LkME peME MR | —
A LA K ik
1 A2 U o Tt i U R - -
2 A
(1) BEaEfm —w L 23 - | - -
(2)  LERBish o —ft 14E 17 - - - -
3 EEELS X
(1) BEaEfHme 50 | LO|h 29 46 17 17—  —
(2) kLIS 50 | L1|h 14 sy o1 12 | —
Hin AT b XIS — | R | fhiH LkEE Lbdy eME | —




ST 545 i = X 3E
X ATE 4 - Fndk il FigtLBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
W Hiz T LR ik
1 FRAnE BhEIE X 0 AR o> Mg 50 | L1|H 14 354 104 100~ —
2 LELISl o 50 | Li|f 1o 33t s.9h 89—  —
2| L% L K — | AR | PhME ph¥E ME ph¥E —
[iRcaglor | dEe
1 JREFHh K
(1) RsEfR a3t 24— | - —
(2) BRSO HuE — i 8.3E 1 I R
2 LRSI
(1) J RERF#R X 0 mafl o> Hide
A4 RERN 50 | L1|% 25 394 14 14 | —
=S TV W B4 N k1517 50 L1|d 18F 314 1 11 — —
(2) B OHEE
A JRIKFREBRMEBEEOMO 50 | Lo|f 13F 297 149 14 —| —
Husek
o RELAA O Mk 50 | LO|P 12f 248 108 10  — —
LFEHEI1~3TH EaetH — | B - - - - - —
fERAT Essin — | B o T e e e
FIRER L Es:d — | B = s s e
FIREEAT g — | B o T e e e
FIHFEE ks — | B o T e e e
FIHBT ESe — | B = s s e
FH1~4TH Eoei — | B —| EEYE ey b - -
FH [EEEIE (A% — | B | Pt EkHE bRMH MR | —
T AR X
1 RiEiRw 40 | LU o2 o33 | - o -
2 EEEDAA O 40 | LO|F 13 20 1t 11 - -
FTHEET £t — | B —| ey MR b - -
)5 [k AES: 1 — | Bl | Lb¥E HHE O HME LT — —




ST 545 i = X 1H
X ATE 4 - Fndk il FigtLBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
2| WK T LA X ik 50 | 1L1|d 13 26 3.9 3.9 -] —
i T b Kk — | BEAR | PhEE k¥ kHE ke — —
TR KR 50 | 1.2 —| i os.epl 8.6 | —
EET i - | B& o T e e e
x| BHZERTL - 2TH |2 — | B = s s e
TR [EETRA 40 | L1 21 29h 9.6 9.6 |  —
RERLAS 0 Hhi 40 | L2 oo.off 21 3.6h 3.6 —| —
5 Eeein? — | BEAR | bhBE LhiE LhHE phEE - -
| REN L IR — | BEHR | Ph¥E Lk¥E  LRHE LRYE - -
TR b A X
1 B H K s e o1 | | | —
2 LRSS ORI
(1) JEHR 40 | LLU[F 20 29 27 211 | —
(2) kRSt HR 40 | LO|F 14fF 18F 19F 19—  —
FNI Est 40 | L2| 14 258 128E 12 — -
FATH = F i o - - — —
RFRRLIA D K S5
1 RaEiRw 40 | L2(d 12 19 9.3 9.3~ —
2 LRELstoR 40 | L2 9.2 15F@ 2. 2rm 2.2 —| -
AR H b — | BE#E | Pb¥E bbHE v bR — —
KH1~4TH E3in — | BRAR | LbEE R LbYE by - —
KE ek AEz — | BRMR | LRMH bhYE LR LhYE - -
LA X 50 | L.1|% 8.5 13%# 6.3% 6.3 —| —
W MERETE 2 T Eaet — | B o T e e e
WM tERE R /T E4En — | B o T e e e
W R /N £ — | B o T A A I
4k, T gt — | B# - — — — - -
i) T Bt — | B o T e e e




ST 545 i = X 5E
i AT A4 - FndkilidT B
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
| mE T B — | B& o T e R I
fLT Ecti — | B - — — — - -
] o S <2 T E=ei — | B — — — - - —
¥ U fet P L DI — 4ot 100 | | —
EERLS O K
1 FSESL 40 | L2 18/ 24h 9.8 9.8 |  —
2 _RELLISh o HiE
(1) JRSEAHivERE AR L D o HR 40 | L1 o.4f 17 3.8 3.8 | —
(2)  ERELSoHIE 40 | L1|F 9.4 170 3. 48 3.4 — —
IR ALK — | B | b tl:zJ tt%J kg - -
TR AR X g
IR SWAIIFCIVIIE ¢ e T o ¥ R B
2 LELU OISR 50 | L2|f 13 16F 20 20 -  —
Rk T Bt — | B - - - -
wE ES 40 | 1O 8.4 148 5.3% 5.3 —| —
BHET £ — | B - - - - - -
ANBPET 1 ~3 TH |2k — | R - - - - - -
HRET1~6 TH  |2% — | B# - - - - - -
i FWEIET BN — | B& - - - - - -
) Bt — | B# - - - - - -
K AT L R — | BGER | PLUE LLWE LR LY — -
A AR Xk
1 H=—Fv 50 1.1 |FERHEE et L — —
PN SEHALA 50 | L2k 28 200 sl 18 | —
3 _FELISh o, 50 | L2|f 15f 25§ 9. 1[: 9.1 | -
FHET1 - 2TH =i — | B - — — - - —
FEET gt — | B# — — — - - —
SR F I — i 8.0F@ 12 - - ] -




ST 545 i = X 6
X ATE 4 - Fndk il FigtLBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
ny S NEEIIENIFS: 40 | L0[F 9.7 14 11rm 1 - -
I Exdif — | BRER | IhMY HYE LR LY - -
JInAAET gt — | B - — — — - -
EEA l=353F: i1 oot o210 | | | —
EERLS O K
1 FSESL 40 | L1 2aff 37ch 7.4h 7.4 | —
2 _RELLISh o HiE
(1) J RECFI#R L 0 mE il ik 40 | L 1| 1ifp 20k 4.9 49 | —
(2)  ERELSoHIE 40 | L1|d 1 198k 2. 7E 2.7 — —
=% e A% — | BRAR | R tl:fJ bl:iér L
TR AR X g
1 EAMER —|i 8.6 13— — — —
2 hFEBA DK
(1 FEH 40 | LO|F 26 35F 30 30 —|  —
(2)  EFRCLASOHIR
A FEEHERRE Ao |40 | L1 w9fF 22 6P 16 -  —
v BEFELASR O Mk 40 | L1(F 12fF 16 128 12 — -
iz [E3E 2 4 S 40 | L1|d ool 42 - - - -
IEGE IR 40 | L1 a9 33 8P 81— —
ERCLLSR oD Hirksg 40 | L1(F 11 18% 6.0 6.0 — -
HR R e — | BRER | PLUE LLWE LYE LLYE - -
| b £ P L U —t 8. 7 13 - - | -
ERLEAA D X I
1 EE2 45/ 40 | Lifd oo 399 - - - —
2 ELS o 40 | L2|f 13 217 6.6 6.6 —|  —
AT £t — | B o T A A I
ABAHT gt — | B# - — — — - -
JEAmERET Bt — | B o T e e e




SF0 S s ® K 5
T DET A4 < kil T _ ABLBUEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% E = @ ® . o
| JcoAET £ | | o 4 4 4 =
STET £y S ! N I
A8 T AT e B [ I I
I LT = S [ N R I
e[ FEEEX Ik — | ehe | e bk dewe e |
AL R 15k et F A A I
H1~5TH g — | E# e e L
i T = B S e e
At T e B [ O e
FHERET E=3th — | B S e
ER R T 08 B e [ I I I
LT By B [ N R
el B — | B - 4 4 4 4 =
B[ e o) e — e o o o o 4 -
FeET E=id — | B B
JERLET E=t:d — | B#H B
eminT E=et — | B B e !
S L) By “lwm| o o o o 4 -
S 2215 — | e ww | - - -
b1 TH £y — | @ | s e - - - -
AT e —lwmm| | o 4 4 o =
e 1 TH 20 — | e | | o -
e[d:52 AL — | A | e prw o pw - -
T LR Ik
1 J RBFO# & 0 Faf o> g 50 | L1fh 17 25 g 12 | —
2 EELSh oM
(1)iﬁJ RIKFIMR L RFIEBIEEOBMOM 50 | L1[F 1F 23 7.00 7.0 |  —
(2) _EFLIAS DI 50 | 10dr vuffr 23 4.3 4.3 0 0 —|  —




SF0 S s ® K 85
i AT A4 - FndkilidT B
p| 7 TR aRe  E W % A e T Tk e | s [
% = = ® i e p
/o #l - 2TH |2 — | B ]
Ak 7 H T T S e L L
b FHAET S5 B [ I I
db s #id AT |8 S % I I I I N R
I B R AIFT |2k S I I N
Ak FiH Ay 3 B e [ R IR I I
b7 #rsrbosiF T |2 B % I I I I N
b EHE L T e B e [ I I
it MR T e B [ O e
AEBIET i 40 | LO([H 9.2 208 4. 48 4.1 —|  —
JLET Ecei — | B )
TT B T T I R I I
Wk = — | Bl | e b mev e - —
P NS b X g — | BEHR | PhHE RRME MR ERME - -
AT LA P 50 | 1.2 9.8+ 17 6.6 6.6 —|  —
AREHT2~5TH |42 — | B N
f = A LI i — | AR | e pevE p o - —
AT LR K
1 AR oo 14— - - -
2 LELA DK
(1) EE4 2 58D FERloHg 50 | 1.1 2o 25h i 11— —
(2) kLA OHIR 50 | L.1|% 9.9 184 8.5 8.5 @ —| —
AEHEMT ety — | B# S s
WET ey B % [ I I I N R
#AL AL Rl G B e I B
T (LR X
1 B —osgen 17 | | | —
2 kRSO




ST 545 i = X oF
i AT A4 - FndkilidT B
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
& EHiL (1) BERWY 40 | Lifforg 31 g o190 - —
(2) RSN OHIR
A REMBIEAS L 0 AL@ioHsEg 40 | L2 (P 120 2000 4.0 4.0 — —
o _REDIA O HE 40 | 1L2|h 13 2o afp o4l | —
SHESFT Eeit — | B# — — - - - -
<| #L/ £ — | BRAER | LM bh¥E b ben | —
E/T i — | B# S e s s
R /N geit — | B — — - - - -
A L £ — | B | LLMH bbYH bW bWy | —
AliA ALK — | B | bMWY | | o —
TR AR X g
1 FH R e 12 | — - =
2 hFEBA DK
(1) EE2 456 - BEm 50 | L1|F o28F 40 - - - -
(2)  EFELASOHIE 50 | L1|R 13k 20 - - - —
HZAfkE 72 F [t o 7oEp 13l - —-| - -
RFRRLIA D K S5
1 RaEiRw 40 | L2(d 17 23 1 o1~ —
2 LRELstoR
(1) B R L D T () o Mgk 40 | L1 12 8P 5 3P 5~ —
(2)  ERRCLASOHUER 40 | L1|d 12 18 5. 5.2 —| —
MMET1~4TH Ecei — | B — - - - — —
/NS Eoeid - | B# - - - - - -
SEAR A Kk — | BRAR | PbME bbYE LbMH pLWE -
AL A X8
1 R — o o12en 18 - | — =
2 ERLEA DX
(1) FEEHE 50 | 1.O[F 34 46 28 25 0 | —




S 5FE5 i =R * 108
X ATE 4 - Fndk il FigtLBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
<| A (2)  EFLS o
A4 BRED 50 | LoO|f 3f 4yt 18 16 @ — —
= RERLA O ik 50 | L1 15 25dt 9.0 9.0 —|  —
B FR FE L X —pEoegpn o1 | | | -
EERLS O K
1 FSESL 40 | L2 1o 18t 1gh 17 | —
2 kLo 40 | L2 8. 7ph 18l 2. ot 2.2 —| —
EH Eeein? — | BEAR | bhiE J:I:i”ér [Eati < e - -
¥Em1-2TH Eeei — | BEHR | Ph¥E Lk¥E  LRHE LRYE - -
R BE I 40 | L2 1o 8% up 1 - —
LFRLLA o Hie 40 | L.1|% 9.3 18 2.6 2.6 @ — —
il RiERW 40 | LL(F 23 32¢F 13F 13 | —
EELIA O 40 | L1|F 82 200 7.4 7.4 —| -
| BERT Eee — | B -l - A - - -
FET Eeei — | B - - - - — —
ER [EREaE AR
1 ~U—FvFa 50 | 1.2 e s e e
2 LRERIAh oD ey — | B | Lb¥E MR MR LLTE - -
T L (X S 50 | 1.1|# 8. 7F 154 3.6F 3.6 —| —
FEBE1 - 2TH |&%R — | BB - - - - - -
Z| A AT L R — | BRER | PLUE LLWE LYE LLYE - -
AL b
1 REBW 50 | LoO|f 37f 42t 22 22 — -
2 LELS o R 50 | Lo|f 15 3gdt oo 9.0 —| —
T [k A — | BRAR | PbME kMR peME MR | —
T (LR X
1 R —E 7.9 15 - - - -
2 kIS OKE 50 | L1 1 o199 - - | —




&F0 545 i = X HE
T DET A4 < kil T FELBIRE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® & # ®
| AR E=1 — |weig | g ww - - o —
1~ 3TH |2 C | om0 | ] —
SN IESE 40 | L1 21 27h 8.8 8.5 |  —
RELIS O 40 | LoO|f 1l 20f 3.9 3.9 |  —
HET Exiin — | m&m e L
AT £ ST R T
/AT 2t B o A [N I R I
INABTRG 2 T BN B % I I I I I R
AREk A XA ar 7w 1o | | | —
LRSS O K
1 REBN 40 | L1 4o 43 14b 14 | —
2 LECBUt o HbR 40 | L2|F 12 18l 3.5 3.5 0 | —
MRS - 6 TH |2 — | B N
MMEEEL~5TH |2 S % D I I I N (R
A =AY =4 — | B N
HE By — | Bsd | bruE bW peve peME | —
&| MR [iiRcx a4 — | BEAR | bt LkME Lh¥H M | —
A LA K ik
1 FGERW 50 | 1.2 e I GARRRL: AR F: T B
2 LRELSA DR 50 | 1.3 = 25 14h 14 - —
HERHET EoT — | B e
B Etein — | B# - - 4 - < =
R RBIT ety — | B# S s
MERITR/ T 25 — | & N
MAT E=ein — | B S e
BEIF Rt X B e os.gsn 10 - - o =
LFREIA D K i
1 HSERL 40 | L2|f uffr 20 5.9 5.9 |  —




w5y fif =S * 128
T RCETR 4 - fudkild FELBIRE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® & # ®
&| HR 2 kRS OHIK 40 | L2|f o5 12 2.2 22 | —
A b Xk
1 @ HUEH 50 1.1| Lb#8 [h#s kv [hHE — -
2 RELS O — | BB | b ph¥E by bl | —
TR bR (X gk 50 1.1 — — i zzrm 29 — -
5 AT R A — | | Lo tl:fér e e - —
AT LA DI
1 BEF A
(1) BEEE latogen 28 | | | —
(2) ERESAS O —fpti 13[2 20 | - ] -
2 ERLPA DX
(1) FEH 50 | L1|F 38F 39 21 21 | —
(2) B OHEE
A REZHZERL IO |50 | L1|F 22 31 8.8P 8.8 —| —
o LERLS O M 50 | L1|F 19k 27F r.3p .3 - —
&% BT — | B - o 4 4 4 =
& #RAur B — | B - - - -4 - =
B REnE gt — | B | 4 4 4 4 =
B AREEan T EST — | B L
BoHb T gy —lwmm| o o A o 4 -
B oHwmE/T E3in — | B - = < 4 < =
B HR/T Etein — | B# - - 4 - < =
B o&m T Ete — | B e
¥ BT NN — | B N e
BT £ — | B e
2! EhE 2 4 B 40 | L1ld e 4o - - o =
L FRELA o itk
1 BaEBWy 40 | L1ld o1 39 | | | —




ST 545 i = X 138
X ATE 4 - Fndk il FigtLBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
] I 2 kRELIA o Hi 40 | LO|H 1 23— — — —
WS BB 40 | Lz 21 3o 9.5P 9.5 | —
LELEASN o i 40 | L1|% 1 1sph 2.2k 2.2 — —
=FT Eeis - | B& o T e e e
L| & & BiEHm 40 | L2|f 1o 20E 7ooME 7.2 | —
EFEEIA O i 40 | L2 o4 19 2.7l 2.7 | —
PRIT1~3TH B — | B# - — — - - —
BE1~6TH Eaeir — | B —| ¥ k¥ B - -
+HET £ — | B o T e e e
zoT i — | B o T e e e
] [EECIR A — | BRAR | sbMH beEE | | | —
A AR K
1 B B g —o.op 14 — - - -
2 hEESA DX
(1) EE2 456 - BaEnny 50 | L1|d 29 40— - —| —
(2)  EFLAS O HR 50 | L1|F 14 21 6.5 6.5 —| —
BET1~7TH 2R — | R - - - - - -
B, T Eeei — | BB#R - kHy - — — —
B /T ECsig — | B& o - T I R B
BER /T Eeei — | BB - H#E - - - -
SfEM /T N — | B - HHE - - - -
T=% £ P L U —t 7 4 100 - - - -
ERLEAA D X I
1 RaEnwy 40 | Lofd 20 20 29 29 | —
2 EEUS O
(1) JRIEAHRERE R & 0 Ak oo Hgk 40 | Lz|d 14 gy o1gh 15 | —
(2) kLIS 40 | L2|h 14 208 1uEE 11 | —
THnfk £ X A —J#ti 9. (T@ 13 - - - -




1.

SF0 5HESY =3 =R = 14E
[EIESIY B i e i g LB E
p| 7 TR aRe  E W % A e T Tk e | s [
U TR ERLS DR ol Ul e o samsd
+&T B — | ®m® - - 44 4 4 =
+—&T 21 S [ e N e e
+=FT £ — | B e
+=FT Eaen — | %% ! e
HREBH g — | EAR | e pevE e pow | —
AT E=et — | B S e
HHERIT = B [ N I I I
WHESR £ — | B | LLMH bbYH bW bWy | —
T Eeeis — | B S L e e .
FrE 2 PR i X —f e 100 | —|  —| —
LRELIA D RS
1 RGERW 40 | LLU[F 20 29 29% 29 | —
2 RIS MR
(1) BB HERTAR & 0 ALl o s 40 | L1|H 13 18 14 16— —
(2)  EFLAS O HR 40 | L1 13 2086 1396 13 0 |  —
AT £3": — mm| ow - - - - -
FroR LET g — | B !
FE1~7TH E=eid — | B B U U il
B g — | B reue bewE e pwe - —
Fmli~6TH |&EK — | % N !
FWHEL - 2TH |2 — | B ]
BNERT Ece — | B e
FRE Qiti[9ne2 ] — | Ee# | sere sk Lo b | —
LS X 50 | 1.2 —F 32 13 13 | —
H B/ EEL~5TRH |5 ~lwem| o o o o 4 -
BERT Eoein — | B e
gRT E=eig — | B S e




ST 545 i = X 165
i AT A4 - FndkilidT B
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * = = # ®
9 SHFESF ES3in 40 | L2|f 9.5 15 3,28 3.2 | -
Wil 1~4TH £ — | BEAR | bk Mk - - - -
{EEET gt — | B — — — — — -
ERIMTET Eeis — | KR o T e e e
H B 1~5TH Eeit — | BEAR | rhME Mk¥E hME ke —
BOGSFMETT Eeein — | B — — — — - -
FESHET B — | B# - — — — — -
HEHF [ERcRIMES:T — | BRER | bhME b HeH beEy | —
AT LA X 50 | L1|F 12 L 1oWh 100 | —
| #RR ALK — | B | b tl:zJ btiér kg - -
TR AR X g
1 RiERW 40 | L2(F 14 27 8.6F 8.6 |  —
2 LELU OISR 40 | L1|F 8 200 5.9 5.2 —| -
EEH b X g — | BEHR | PhHE RRME MR ERME - -
TR L A Xk 50 | L1 13 140 6.3 6.3 —|  —
7| EFEET1~7 TH |2 — | B - tl:i‘j bti’érgtti% - -
v g 40 | L1 6.5 9.3 3.7 3.7 —| —
[ERT Bt — | B# - - - - - -
izl [iEkcplaEe: — | BERR | LMY bW Mg bWy | —
T LR I
1 B
(1) BEiR — 2o 300 - - - -
(2)  _LEELASh D HEL —d 14E 22 - - - -
2 LELRAA ORI
(1) BsEiRy 50 | L2|d 39 soF a2 21 | —
(2)  _EFEEES o
A BB &9 kARl oo sk 50 | L2k 23 34 8.9 89 | —
m_REERIA o M 50 | LoO|f 19d o5t 7.3 7.3 | —




ST 545 i = X 165
X ATE 4 - Fndk il FigtLBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
7-| EEBET N — | B — - - - - -
mAEr2~5TH |2k — | B - - - - - -
7 it FE b X S — oo 17 | | | —
EEELS 0 K
1 R 40 | L1|d 24 e 7.Ah T4 | —
2 BRSO Hit
(1) J R L Y ot 40 | 1.1 L 189 5.3 5.3 — —
(2) kLSO 40 | L1 1ff 17E 3.7E 3.7 — —
BT gt — | B o T e e e
M EF Bt 50 | 1.3 —E 32 16 16 | —
i 2 P X —di 7.3 o8 | | | —
LRELIA D RS
1 EE2 458 REBV 40 | L1(Fo2off 23 19 19— —
2 RECEAh oot 40 | L1|% 13 16F 14F 14— -
b ##E1~6TH g — | BB - - 4 - - -
KRBT g — | B -1 - -4 -1 -1 -
S FRHET Eee: — | B# - - - - - -
| DD UME 1~ 7T B2k 50 1.1 — - - - - —
HE Eetin — | B | LbME MR MR phTE - -
T| HEEFEET Eeei — | BB - - - - - -
HOEss, T =i — | B -l - A - - -
AT Etein — | BBk - - -4 -1 -4 -
HAwm., T e - | B# - - - - - -
H & A Kk — | BRAR | PbME bbYE LbMH pLWE -
T LR Xk
1 &2 NI - —F 11 - - - -
2 [EE 2 4 BRI 50 | LoO|f 33 44dr ogh 25  —| —
3 kR 50 | L1|f 16 33F 9.6 9.6 —| —




ST 545 i = X 178
X ATE 4 - Fndk il FigtLBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
| FF N — | B — - - - - -
FE1~6TEHE £ — | BEAR | bk Mk - - - -
FEHE E=ei — | BEMR | Pb¥Y bovE bhiH LY - -
RV Eeis — | BRMR | Pt bkWE pbvE bR | —
FWN B B BhEIE v PR oD gk
1 FSESL 40 | 1.1 o9 41 8.9h 8.9  —|  —
2 kLo 40 | 1.1 20 30pf 5.8 5.8  —|  —
EFRLIA o Hitkek 40 | L1 14 27 4.86f 4.8 < — —
oiEmmE /T gt — | B s s s e R
&| EIHHT Eeeis — | B s s s e R
A Eaeir — | BB bhHE LhHE LhHE LRYE - -
mEAT B — | B s s s e R
TiEET1~3TH |2 — | B S e I I
KEiT2~5TH |&5 — | B -l - 4 - -4 -
7e| [EREa AR
1 EF SUEH 50 1.1| Lb#8 bbns pRYE bREE - -
2 hEELIA o Mg — | B | fhHE HhME HME fhEE - -
AT LR K 50 | 11|k 14— 14 14— —
S Eetin — | B e HeYE ?;Tﬂbtz%' - -
Hrth B AE = R Hb R 3 —fidi 9.3 19  — — — —
RS oD K Se
1 [EE2 4 54« BaEnuy 40 | L1 24 40 8.2 8.2  —| -
2 ERCEA s 40 | L1(P 12 19 .2h 7.2 — -
SRk it — | BSHR | LY LLVE LLYE LT - -
b i — | BRAR | PbME kMR peME MR | —
hziEdk s T £t — | B - - 4 - - -
g, T gt — | B s s s e R
fZRER S T ke — | B s s s e R




ST 545 i = X 185
i AT A4 - FndkilidT B
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
72 kil £ P DU — 7o 12l - - | -
LIS D Ktk
1 Raainwy 40 | L1|d 27 29 4P 14 | —
2 _EILISN o HE, 40 | L2|F 1 14 2.6t 2.6 | —
e Eaen — | B# - — — - - -
aENT Eeein — | B — — — - - —
WS [eEeiR (s — | BRER | Phif| phiE ped bl | -
AR X I 50 | 1.1 —I 33 1 18 - —
Kl [Ei 2 4 BHEW 40 | L1 29 40— - - —
EELIA O Hi 40 | Lo g 20 5T 57 | —
\Z| FrmET Eeitd — | B —| ¥ - — — —
(i) RER 40 | L.1|F 21 284 8.6 8.6 — —
EELIA O 40 | L1|F 9.8 18 4.3F 4.3 —| -
i) B F I BheIE X ) A oD b
1 RiEiRw 40 | L1(F 32 50 13 13— —
2 bRELSt o 40 | L2(f 15 35 6.4 64— —
RFERLLA o> Hitkek 40 | L2|d 12 26 6.0 6.0  — -
iz 3= Eeei — | BB#R — - — — — —
PH {52 RT Bt — | B& - - - - - -
BEIET 1~3TH &K — | R - - - - - -
PRI T EiiA — | B - - - - - -
F/"EH1~3TH |2k — | BRAR | kM bk - - - -
FEAHEET1 - 2 TH |2 — | BE# - - - - - -
BR /LT RiEk = | B — — — - - —
7 fe P L DI —ft 8. gt 9.6f —|  —| | —
ERELA o K IE
1 [EE2 4 56 - BaEnu 40 | L1 o8 38 - - | -
2 kLSO 40 | L1 g 20 7.3 7.3 | —




ST 545 i = X 198
X ATE 4 - Fndk il FigtLBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
\Z| PR TR Ecei — | B o e A A I I
EEfsl - 2TH |2k — | m | o - 4 o =
FEAHETL - 2 TR |23 — | B o T e e e
FRET1~4TH |2 — | Bk -1 - - - -1 -
BEAET1~6TH |2 — | B = s s e
[iz)=n ML — | WSR | th¥E Lk¥e k¥ kv — -
AT LR 50 | L2|h 1 1R 1l o1 | —
[ipaS g — | B = s s e
P REERT gt — | B o T e e e
[LEF e A% — | BRAR | PMY bk¥E bWy e | —
T LA X 5 | 1.1 - 15 18 |
k1 ~3TH Eoei — | BEHR | Ph¥E PR¥E phME RRYE - -
BT T = — | B - - 4 - - -
—ET Eee — | B -l - A - - -
BET g — | BB o e A A I
i A5 A b I — | B | PbME LkME pedH pkME | —
T LA X
1 R — 1men 27 - - —|  —
2 RSO KIE 50 | 11| o5 48 o~ - - —
re e itk Rk — | B | fhHE HME HME fhHE — —
AT LR Kk
1 ERHMXIR — 7.9 13 - - | -
2 LEMADRKIE
(1) #22 NN o T o ¥ I R B
(2) BsERY 40 | LO|P 27 89 7.9 7.9 | —
(3)  _EEEEASh R
o EIIE 0 AR o Hils 40 | Lo 14 21 4.8 48— —
v BRSO U 40 | L1|F 13 18’%@ 2.08 2.0 —| —




oF 5L % =R e 0E

T RCETR 4 - fudkild _ ABLBUEE
T'Ebfﬁ O ke E m w A ey ngiﬁﬁﬁuﬁﬁ%ﬁ {ff R
2 =9 iR (A= 2 Eﬂﬁp tl:f; tl:fg tt£ l:l:iél i

A L Xk
1 J RERFu#R & 0 Bl o gk

(1) 27 IR 8 | I I I
(2) BRSEmD 50 | Lz2|d 3gf 48 31 31 | —
(3} ERiuistoHhg 50 | 1.1 9 26 20 200 — —
2 kLo 50 | LU|P b 1eft 400 4.1 0 | —
WE Eaeir — | BEAR | bhBE LhiE LhHE phEE - -
Sy ey Eeei — | BEHR | Ph¥E Lk¥E  LRHE LRYE - -
SEIF g B | s pevE o pe | -
G g — | B e !
faET £ — | B N !
MR T Eee: — | B - 44 44 4 4 =
HES RN S T |2 —olmm| | o 4 4 o =
MEHMHERR T |25 — | B - — — — — _
IMEBHEAR T gt — | B N
WESHET ik B e o o
MMEBCETE T Ezein — | B !
MEBCTALT =t — | B | 4 4 4 4 =
MBS /T A5k —lwmm| o o 4 4 o -
RS ) T e —lwmm| | o 4 4 o =
MBESE T Eeei) — | i - - 44 4 4 =
HRERH T el B L
MRS T I B [ I R
B LSRT E¥on — | B N
HREREN 7 B T 05 ~lwem| o o o o 4 -
AET S S % I I I I I
5% [aSEREIA 40 | 1.2|f 13 27 8.4F 8.6 | —




oF 5L % =R e o1 E
T DET A4 < kil T B 1 {1115
T'Ebfﬁ O ke E m w A ey ngiﬁﬁﬁuﬁﬁ%ﬁ {ff R
3| B ERRLUSAO HisE 0 Lold o dm e e ed  —  —
R[] T b Kk — | BEAR | PhEE k¥ kHE ke — -
AT {L A X
1 A b et o7 1] | | | —
2 EELSOXE
(1) %22 I8 Y I
(2) FER 50 | LL|h o4 32 27 27 | —
(3)  EFELAS IR 50 | L1|% 10 200 16 16 @ — —
O IR b B o F A N [ I
FATET1~3TH |25 B o I N I R
BRI T ES4Ey — | B N !
;i B — | B — e - - - -
SO AT B e o o o o 4 -
BT Ecet — | B S U
WEMLI~4TH |28 — || | | ko mE o -
o A M et g0 100 — - - -
RFRRLIA D K S5
1 RaEiRw 40 | LL[F 20pF 27 29 29 0~  —
2 LRCLIA DR
(1) WA R &L 0 6 o sk 40 | Lofd 4 o1gd o o1h o1 - —
(2)  EFCLAA oM 40 Lo 14 196 11fE 11 - -
HMPEIETL - 2T H |28 — | B#& e
HEI1~11TH |28 — | | o o o 4 -
HEMP T e B % [ I I I N R
RART1~6TH £ — | B e
FUREERT Eze:n — | B i L
—fHH B — | B S e
H % AT b XIS — | R | fhiH LkEE Lbdy eME | —




ST 545 i = X 20 E
X ATE 4 - Fndk il FigtLBLEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
O\ HE% A LIS ik 40 | L1 13 2uE 8 1 8.1 - —
RET £ — | BEAR — - - — — —
FH: A X — | BEAR | PbME bW kv kW | —
TR b A X Ja 50 | L1 1 14 14 14 | —
TR FEE FE i X I —H oo 13 | | | —
LFREIA D K 5
1 ESERV 40 | L2 7h oo 7o 77— —
2 _EFLEISF MR 40 | L2 12fF 1epi 4500 4.5 00— —
S fi] EfE 2 456 - BiER» 40 | L1|% 23+ 29% 8.9+ 8.9 — —
EELIA O Hi 40 | L[4 13 17t 6o 6. | —
AHE@E T 1~3TH & — | B = s s e
LW T 1 - 2 THAE — | B - — — — — -
5475 [EEEIE (A% — | B | Pt EkHE bW W | —
[iReaR ok dme
1 RO —t L 18—~ | —
2 LRSI
(1) J RERFI#R X © B flod Hksk
A RSERW 50 | 11| 20 33 21p 21 - —
o FRLA O H 50 | 1.1 et 25 17 17— —
(2)  LEFELAS LI
A4 JRIKFRERIMABEESOK O 50 | 1.2 R 15F 22 7.5 7.5 - —
Hu gk
ER SN E NPT b 50 | L1|F 11 19 5.656 5.5 | —
NG BB 40 | L1|F 24 37F 9P 9.7 | —
_ERLLASS oD i 40 | L1|% 12 187 2.8% 2.5 — -
IS £ —lwmw| - - 4 4 4 -
5 K E1~5TH E=X1 — | B Lt
REET1~5TH |2 — | B o e e
it [k AES: 1 — | Bl | Lb¥E HHE O HME LT - —




ST 545 i = X 23E
X ATE 4 - Fndk il FigtLBLEE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
5| @5 A LA o
i) BNy — | B e s s e
& M IESE 40 | L1|f 21 40h 8.9 8.9 |  —
RELIS O 40 | 1.1 1offt 21 7.3 7.3 | —
“fhE g — | B = s s e
P LIk — | WEgR | k¥ bkvE phdE phre - -
AT LA DI
1 RAHEER —oLusno1g | | | —
2 LRSI
(1) J RERF#R X 0 mafl o> Hide
A4 RER 50 | L2|% 28 33 29 29 | —
=S TV W B4 N k1517 50 Li|d 17 204 194 19 — —
(20 ERELS OIS 50 | L1 1 208 6.3 6.3  —|  —
FHARTHT Eee — | B -l - A - - -
JHERT1~4TH (&2 — | B - - - - - -
SR ET gt — | AR | LhME LhHE kMR phIE - -
487 RGBT 40 | L1(F 27F 33 7.9 79— —
LFRELS o i 40 LU 1yf 194 4.3 4.3 - -
~ FMRT Bt — | Bk o e e I R B
i HET At - el - - - - - -
b EET A2 — | B - - - - - -
A 2 kel — | BRAR | PbME LbkME pbME MR | —
A AR Kk
1 A/ % - —F u — — - —
2 RiERW 50 | 1L1|d 28 35 20/ 20 | —
3 LEELS O 50 | L1|% 1off 19% 12h 12— -
#EiEpEl - 2TH |4 — | B o T e e e
bR - 2TH |2 — | B o T e e e




% 2AE

i AT A4 - FndkilidT FdR LB

1

A0 LY &

S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # .,

F HIERE S T Ecei — | B# - - - - - -
AET1~9TH I — | B - - - - - -

k| AT LTH Exs — | B o T e e e
HAT Eein — | BRAR | PbME bHvE phME LU - -
#wirdth1~7T8H EaeiA — | BERR | kMY Ve bW LLYE - -
ITH1~3TH Eeein — | WEgR | k¥ bkvE phdE phre - -
T 1~3TH |2 — | R | Pt ke bbd e | —
MTH1~4TH Eeein? — | BEAR | bhBE LhiE LhHE phEE - -
WmrrE1~3TH gseizn — | BEHR | Ph¥E Lk¥E  LRHE LRYE - -

F2 B Eeeis — | BRAR | PMY bk¥E bWy e | —
I RER 40 | L2 13 27 P Ty | —
EFELIA 0 40 | LO|F 8 1F 19% 3.8F 3.8 —| —

B = [EEEIE (A% — | B | Pt EkHE bW W | —
T LA X 40 | L1(F9.9F 19 2.9F 229 — —

=RET BRI Eeei — | B - - — — — —
=ARETH T £ — | B - - 4 - - -
ZRHT SRS Eee: — | B# - - - - - -
=ARBE/T Eeei — | BB#R — - — — — —
—RET1~4TH Eetin — | B —| LW beME bR - -
=#H Eeei — | BB - - - - - -
XET2~5TH |2 — | E#R - - - - - -

it 2 kel — | BRAR | PbME LbkME pbME MR | —
LR R 50 | LoO|f 15 17 17h 17— —

# £ — | BRAR | bbME bk | | | —
#1~5TEH E=¢iin — | BAR | bhME phiE - - - -
A RAT £ — | B o T A A I
Bhir1~3TH |2 — | Hs#R - - -~ - - -
EHE1~3TH |2 — | B - - -~ - - -




1.
YN

S 55 H =R * 25 H
T DET A4 < kil T FELBIRE
p| 7 TR aRe  E W % A e T Tk e | s [
% = = ® i e p
G EAHEET 1 ~3 TR |2 — | B ]
HWETI1~4TH |80k S e [ N N I
BETE1~4TH |8 S I I N I
EAET1~3TH |2 — | B#® e
FEFRAET A — | s e !
R At L e T B
P R ET Ees — | B S L e e .
MARL - 2TH  |[RR — | B N !
FAPREAT £ — | B e
P BT Eeeis — | B S L e e .
P Al THT g — | B e !
MHAT 1~3TH |2 o I I [ I
R T 2 B e [ N I R
Fi R THT Eee — | B# N
AT = — | N
FA 1 FEET B — | B - 4 4 4 4 =
P Eee: — | B | fhHE HhME HME fhEE — —
R % PR P e 11| - - | —
LRCLASR D I
1 JRERW 40 | L2(f 12fF 20 7.3 73— —
2 ISR 40 | L.2|d 9.2 8% 2. 66 2.6 - —
FAITT Etein — | B# - - 4 - < =
i Ecei 40 | L.2|f 14 258 158 15 @ — -
S [SERAID 40 | L2 1 TG 6 I 6.1~ —
LIS o s 40 | L1 7.9 10F@ 4. Zrﬁﬁ R e
Lo 17 g1 — | AR | e prve pev o - —
PN XE| e — | % — _ _ _ _ _
AtE AL KIS — | BRMR | LM Le¥E Lk bkl | —




ST 545 i = X 26 E
i AT A4 - FndkilidT B
S (TR wass @M m oW g [P ACEERTEECEA RS
% e = * ® = # ®
Fo N8 AT LR
1 e/ IR - -y - -~ =
2 LELS o 50 | L[| 1o ioHE 14 14— —
L THFET1I~5TH |2 — | Bk -1 - - - -1 -
FTHATAL S T ke — | B S e s s
LT T Eeein — | B — — — - — —
JTHFRTER T i — | B o T e e e
SRS /T Eee — | B S e s s
JCIESHT Eeei — | B — — — - — —
TETEATT 1 - 27T B2k — | Bk -1 - - - -1 -
PN b X — | BB | HhHE Lk¥E GRHE RRME —
AT LA R 50 | L2|F 13 208 9.0 0.0 | —
A 2 R L XI5 —t o6 i 13 - - - -
RERLIA D K 5
1 RiEiRw 40 | L1(F 19 334 8.6 8.6 —| —
2 bRELSt o 40 | L2(f 13 23 3.5 35— —
AR/NFE B E BhEE L 0 oD il
1 RaEiRw 40 | LLU(F 33 4 12 17— —
2 LELS OISR 40 | 1.2 17 35 T 71— —
ERCLLSR oD Hirksg 40 | L2|% 14 28 6. 1l 6.1 - -
| BIEHT 1 ~5TH gt — | BB — - — — — —
FERE IEGEIR 40 | L1 g 29 7.6 .6 -  —
ERCEASS D 40 | L1(F 9.0ofF 20 4.2 4.2 — —
K P P L X fgk S R EEE R B B
RS X8 40 | 1.1 |F 9.2 148 3.5 3.5 | —
T =i — | B - — — - — —
BT £ — | B —| k¥ oy pw | —
WEET Bt — | B S e s s




ST 545 i = X 2TE
X ATE 4 - Fndk il FigtLBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
oEUEE £ P DU — 8 Tl 17— —| | —
LIS D Ktk
1 Raainwy 40 | 1L1|d 25 37 8.2P 82 | —
2 _EILISN o HE, 40 | L1|F 19 197 6.6 6.6 —| —
kT ke — | B = s s e
W BB it FH 1L X3 — 9. 1eE 17 — — — —
ERRLISN O XI5
1 RaEimw 40 | L1(P 20/ 298 7.08 7.0 0 —| @ —
2 LRELU o i 40 | L[| 10 17 4.3 4.3 0 | —
K| EHE e A% — | BRAR | R tl:iJ bt%ér L
TR AR X g
1 RiERW 40 | 1.2|% 124 24 9.3+ 9.3  — —
2 LELU OISR 40 | L2|F o8 17 3.9F 3.9 —| -
& H ot — | B - ¥ - - - -
HIR R P XA ol 7o 11— - | —
ERELAS D I
1 RIER 40 | L1(F 24fF 380 110 11— —
2 LR o 40 | 11|k 8.8F 17F s.6p 3.8 - -
s H Bt — | B& -1 - - - - -
HEHT Bt — | B# -1 - - - - -
piig N — | B - — — - - -
HE T Eeei) — | B o T e R I
A RET i — | BE# — — — - - -
o FMEET L ~3TH |2 — | BSHR | LY LLVE LLYE LT - -
ST L - 2 TH |2 — | BRAR | LM bbWE e peTH | —
FHRER1~4TH |®k — | BEAR | fkME bk¥E kMR LkME - -
FikME 1 ~3TH |2 — | BRAR| LB LkYE b pLIE - -
FUak ) ITHY ke — | BRER | Lhif| b i bkl | -




S 5FE5 i =R * 28
X ATE 4 - Fndk il FigtLBLEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
ho| R ET N — | B — - - - - -
e E T b Kk — | BEAR | PhEE k¥ kHE ke — —
AT {L A X
1 A —| 7. 12 — — — —
2 EELIAA DX
(1) BEB 40 | Lold 26 36 18P 15 00— —
(2)  ERLSh R
A EII Y AR oo Hle 40 | LO(P 14 21F 6. 9P 6.9 —| —
o ERRLA o i 40 | LO|F 10 174 3.56 3.5 | —
Fotrh e A% — | BRAR | R m@rﬁﬁrw@ - -
TR AR X g
1 #7 IR - —F 11 — — - —
2 JR A
(1 FEH —fti 12 10 - - - -
(2) EFREIAOHE —fl 9.6/ 12 - - - —
3 LbRELSt ORI
(1) BEaE#H 40 | L1[d 27 39 15b 15— —
(2)  LRELSoHE
A CEFFINL D Ao s 40 | L1|f 14 27 g T8 | —
(=S =t O N ko 40 | L.2 12f 23%k 5.6l 5.6 0 —| —
Fam Fot Y b R s —E e o200 —| - — =
EFRLA o I
1 FnEIE © Akl ootk
(1) FER 50 | L1|h 3if 34 17 17 | —
(2)  _FELASh D HEL 50 | L1|F 22 34w TR LT — —
2 LERLS o
(1) REm-y 50 | L2|h 2o 34 14 14 | —
(2) kRS OISR 50 | 1.1 o 33 . .7~ —




